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GROUP - A

( Multiple Choice Type Questions )
1. Choose the correct alternatives for any ten of the

following :
iy If a data item is declared as & protected access
specifiers then it can be accessed

a) anywhere in the program
by the base and derived classes

s) only by base classes

d) only by derived classes.

Which of the following is & type of polym

Java ? | ,
/a‘J Compile time polymerphism
b

i) orphism in

cution time polymorphism '

exe
c) multiple po]ymorphism
-~ d) ‘multilevel poly_morphism. _
iiij Which of the following is not a keyword in Java ?
/aj Boolean b) String
d) Final.

Abstract
[ Turn over
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iv) Which of the fdllowing statements is true regarding
constructors ?

a) A classes must have constructbr
b) A constructor can be declared pnvate
¢} A constructor can return a value

) A constructor must initialize all the fields of a
. class.

v) When overloading does not occur ?

- a)  More than one method with same name but
- different method signature and different
number or type of parameters
b) More than one method with same name, same .
~ signature but different number of signature.
/o)’ More than one method with same name, same
signature, same number of parameters but

different type http://www.makaut.com
@ More than one method with same name, same

number of parameters and type but different.
vi) Which mechanism is. known as runtime
| polymorphism ? _
a) Encapsulation b) Method overloading
Method overriding d) Inheritance.
vu) Find the statement that is incorrect

/a’f exceptions are errors that occur at compile-
' time

b)- exception is caught using catch

c¢) the catch block must immediately following the
try block

d) none of these.
viii) Static nested class can access
a) final variable of the outer class
_b) only static variable of the outer class
c) non-static variable of the outer class
d) all the member variable of the outer class.
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iX) Determin - '
€ the option that '
0 o e s e
) _!ohn” . equals(“john”)/”
Zl “john” = “john”
x) TL .101.‘11.1” . equal(new Button(“john”))
e ability to declare different methods with th
same n i i
ame in.a class is known as :
) overloading b) overriding
9 rf:-cursion d) none of these.
X1) What is the main difference the JRE and JDK ?
/é) The JRE does not include the development
tools |
b) The JDK does not include the runtime tools
¢) The JRE includes the virtual machine
d) The JDK does not include the virtual machine.

xii) Inner classes are the
a) anonymous classes N
) nested classes
c) sub classes
d) derived classes.
GROUP - B

( Short Answer Type Questions )
Answer any three of the following. 3 x5=13

ding with proper example. When

does the ambiguity problem arise ? .4 +1
e between the PATH and

What is the differenc and
SSPATH ? What is JVM ? |
e final ? Finally and

1 1 between

What is the difference

finalize in java 2 What do you. mean by gargigg
collection in java? . | o
fh?hat do you mean by interface ? Write the dlffere;iﬂg
between interface and abstract. v 2
What is an Interface ?_ Implement Interfa@ 4 3
a simple code. s - L o

3
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GROUP - ¢

( Long Answer Type Questions )
Answer.any three of the following. 3 x 15 =45

overloading with proper example,

2+7+2+4
8" What are the differen

: t types of inheritance ? What is
the way to implement multiple inheritance in java ?

Explain constructor chaining with example. What is
partial implementation of interface ? '

2 a) Describe the complete life cycle of a thread.
b) Mention two methods by
thread.

Explain how an object reference can be cast to an
interface reference.

Outline the applet life cycle with state transition
-diagram,

-6+— Name the different access specifiers in JAVA.
)  Analyze the process of garbage collection in JAVA,
‘ 3+2+2+3+3+2
10. a) What are the differences between Method
Overloading and Method Overriding ?
b) Explain Dynamic method dispatch with suitable
example, ' _
c) Write a program to access static variables and
static method to explain “static” keyword properly.
- 4+4+7
3 x5

which you can stop a

c)

d)

11. Write short notes on any three of the following' :
, a) Wrapper class |

b) Collaboration diagram and se
!\,6]/ Applet life cycle
- .d) Date abstraction and encapsulation
e) Garbage collector in Java,

quence diagram

——
——
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